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Question Number One
For questions (1- 45), choose the correct answer from A, B, C OR D
fo complete the following sentence.

1) The life expectancy figurcs show that Jordan's healtheare system is successful. In 1965
CE, the average Jordanian's life expectancy was age 50. In 2016 CE, this average life
expectancy had risen to 74.6. According to UNICEEF statistics, between 1981 CE and 1991
CE, Jordan’s infant mortality rates declined more rapidly than anywhere else in the world —
from 70 deaths per 1,000 births in 1981 CE to only 15 deaths per 1,000 births in 2016 CE.

- The average Jordanian's life expectancy in 2016 CE was almost .....oovvevveiniens
A)75 % B) 74 % C)76 % D) 50%

2) In 2010 CE, neuroscientists confirmed that it was possible to communicate with

some patients in a coma .They suggested that, in the future, more meaningful dialogue with
patients in a coma would be possible. Two years later, it has finally happened.

i s ensassnerapae , more meaningful dialogue with patients in a coma has finally happened.

A) 2020 B) 2012 C) 2014 D) 2010

3) Many cancer patients live far away from Amman, where the KHCC is located. and the
journey to and from the hospital is often difficult. For this reason, there are plans to extend
cancer care facilities to other parts of Jordan.

- It is intended to extend cancer care facilities to other cities in Jordan because ............

A) the KHCC is located in Amman.

B) the journey to and from the hospital is not often difficult.
C) a lot of cancer patients live far away from the hospital.
D) of extending cancer care facilities.

1) In many countries, an increasing number of young people and adults are overweight
or even obese. One reason for this is the growing popularity of fast food, which
didn’t use to be as common as it is now. Another big factor is lack of exercise.

One reason for being overweight or obese is:
A) having over exercise B) not having enough exercise
C) lack of fast food D) decreasing popularity of fast food




5) Most doctors used to be sceptical about the validity of homoeopathy, acupuncture and
other forms of complementary medicine. If patients wanted to receive this kind of non-
conventional treatment, they used to have to consult a private practitioner who was likely not
to have a medical degree.

One of the non- conventional forms mentioned in the text above is ........cccevvinannn.

A) acupuncture B) sceptical C) complementary medicine D) treatment

6) The low infant mortality rate, as well as the excellent healthcare system, have been
contributing factors to Jordan's healthy population growth, which will result in

a strong work force with economic benefits for the whole country.

The word that means (the rate of deaths that occur) in the text is.....

A) population B) infant C) factors D) mortality

7) Adults should aim to exercise for at least two and a half hours every week; for
children and teenagers the target should be at least an hour a day. This might not
sound very much. However, recent research shows that less than 50% of the British
population manages this. School children are less physically active than they used to
be. Girls in particular often dislike PE. This can lead to serious health problems.

One of the things which can affect health is that ...........ccociviiinn

A) school children are physically active B) girls hate Physical Education.
C) girls in particular often like PE D) children should exercise an hour a day.

8) The new hand, which was developed by Swiss and Italian scientists, was a huge
improvement. With it, Sorensen could not only pick up and manipulate objects, but he could
also feel them. ‘When I held an object, I could feel if it was soft or hard, round or square,’
he explained. He said that the sensations were almost the same as the ones he felt

with his other hand.

-The underlined word "ones" refers to..........cocvnnnns
A) objects B) scientists C) sensations D) improvement

9) Fifty per cent of patients then said that the treatment helped. One doctor said, "I now
consider homoeopathy to be a viable option for many different conditions, including anxiety,
depression and certain allergies. It provides another option when conventional medicine does
not address the problem adequately.”

-The underlined word "It" refersto.....................
A) anxiety B) a viable option C) homoeopathy D) the treatment

10) Health experts have been warning about this trend for years, and their advice is clear.
Adults should aim to exercise for at least two and a half hours every week; for children and
teenagers the target should be at least an hour a day. This might not sound very much.
However, recent research shows that less than 50% of the British population manages this.

-The target of the adults is to have at least................... of exercise every day.
A) 20 minutes B) two and a half hours C) 150 minutes D) one hour




11) When you get sick, your body produces ............. to attack viruses.

A) drug B) limb C) allergy D) antibody

2 Avold isiaiciisnssinanres exercise immediately after a meal.

A) strenuous B) optimistic C) artificial D) sceptical

13) The teacher is giving us .......... math questions to practice before the real test.
A) option B) model C) trial D) equipment

14) Seeing someone achieve their dreams can ........... you to achieve your own goals.
A) decline B) raise C) risk D) inspire

15) Teachers help students ...........cceevvuenes their reading and writing skills by
providing interesting lessons and activities.

A) invent B) risk C) develop D) sponsor

16) You should aim to ................ attention, then to demonstrate value.

A) catch B) get C) take D) attend

17) They caught him red-handed with the stolen money in his briefcase.

The underlined colour idiom means ..................

A) a useless possession B) permission

C) apparently from nowhere D) in the act of doing something wrong

18) Doctors look at the signs of illness before they decide how to treat the patient.
The underlined phrase means......................

A) medical trials B) a coma C) symptoms D) pills

19) The words "machines that have a particular purpose' is used to define the word....
A) prosthetic B) apparatus C) allergies D) arthritis

20) The word which means "giving a drug to protect against illness" is .................
A) immunisation B) ailment C) malaria D) migraine

21) 1 ... ST TV when she arrives tonight.

A) watched B) watch C) will be watching D) had watched

22V M ssvicsisvisvissins have rained last night. The streets are still wet.

A) might not B) mustn’t C) can't D) must

X S P the bus, now he walks to work.

A)is used to taking  B) didn't used to take C) used to take D) used to taking
24)You can call me at work at 8am. I .........coocvvieneirnninnienn. at the office by 8.

A) will have arrived B) had arrived C) will be arriving D) will arrive

25) Indian people find our food tasteless. They are used to ................ spicy food

A) eating B) ate C) eat D) eats

26) The program that was terminated ..........cccovvviiiiinieninens well since 1945.

A) is working B) has worked C) have been working D) had been working
27) My friend .......c00ei (L 7 R — fast. I can't understand everything.

A) talks B) has/ talked C) is/ talking D) talked




28) At midnight tonight, we will still ...........cceovvinnanne. through the desert.

A) drive B) driving C) be driving D) have driven
29) At first it was difficult but now I ...cooiviiiiiiiiiiiiinan in public.
A) used to speak B) am use to speaking C) used to speaking D) am used to speak

30) They will be tired when they arrive, They ................cceevnnne.. for a long time,
A) have slept B) will not sleep C) slept D) will not have slept

31) Maha finds teaching difficult. She ......................... dealing with noisy children.
A) didn't use to B) isn't used to C) didn't used to D) isn't use to

32) Traffic jams don't bother me. I .............ccceveneiea. in the city.
A) am used to drive B) am used to driving  C) used to driving D) am used to drive

33) My father is changing the flat tire now.

The correct passive of the sentence above is:

A) The flat tire is changing now. B) The flat tire is changed now.

C) The flat tire is been changed now. D) The flat tire 1s being changed now.

34) "Yesterday, I have bought all the ingredients for a chocolate cake."

The correct reported speech of the sentence above is:

A) Huda told me that yesterday, she has bought all the ingredients for a chocolate cake.

B) Huda told me that she had bought all the ingredients for a chocolate cake the day before.
C) Huda told me that she had been bought all the ingredients for a chocolate cake yesterday.
D) Huda told me that yesterday, I had bought all the ingredients for a chocolate cake.

35) I asked someone to fix my computer.

The correct causative form of the sentence above is:

A) I had fixed my computer. B) My computer was fixed.

C) I have my computer fixed. D) I had my computer fixed.

36) It isn’t necessary to switch off the screen.

The sentence that has a similar meaning to the one above is:
A) You don't have to switch off the screen.

B) You don't had to switch off the screen.

C) You are not allowed to switch off the screen.

D) If I were you, I wouldn't switch off the screen.

37) It is normal for me now to work in the hospital for long hours.
The sentence that has a similar meaning to the one above is:

A) I used to work in the hospital for long hours now.

B) I am used to work in the hospital for long hours now.
C) I am used to working in the hospital for long hours now.
D) I used to working in the hospital for long hours now.




38) He is used to travelling up and down the country now.
The sentence that has a similar meaning to the one above is:
A) It was normal for him now to travel up and down the country.
B) It is normal for him now to travelling up and down the country.
C) It is normal for him now to travel up and down the country.

D) It isn't normal for him now to travel up and down the country.

39) It is not normal for my brother now to use his phone to listen to music.
The sentence that has a similar meaning to the one above is:

A) My brother is used to using his phone to listen to music now.

B) My brother is not used to using his phone to listen to music now.

C) My brother is not used to use his phone to listen to music now.

D) My brother didn't use to use his phone to listen to music now.

40) The man fixed the car then he drove home.

The sentence that has a similar meaning to the one above is:
A) The man fixed the car before he had driven home.

B) The man had fixed the car after drove home.

C) After the man had fixed the car, he drove home.

D) The man had fixed the car before he had driven home.

41) It's likely that he hasn't been promoted.

The sentence that has a similar meaning to the one above is:

A) He might be promoted. B) He might not be promoted.

C) He might not have promoted. D) He might not have been promoted.

42) I used to be very thin when I was younger.

The sentence that has a similar meaning to the one above is:
A) I was very thin when I was younger. B) I am very thin when I was younger.
C) I had been very thin when I was younger. D) [ wasn't very thin when I was younger.

43) Older people tend to suffer from more.................... s than younger people.

A) elment B) aelment C) ailment D) ailmant

44) If vou don’t feel well, you should describe your ..................... to the doctor.

A) symptoms B) semptoms C) symbtoms D) simptoms

45) After our Science lesson in the laboratory, we always ..........ccccuv.u. the teacher to
PHEThE ccsavmssinasen away.

A) helped/ apparatus  B) help/ aparatus  C) helps/ apparates D) help/ apparatus




Question Number Two

Ten-year-old Adeeb al-Balooshi, from Dubai, is going to travel to seven countries on a tour which
has been organised and funded by Sheikh Hamdan bin Mohammad, Crown Prince of Dubai.

The boy caught Sheikh Hamdan's attention with his invention — a prosthetic limb for his father. The
Sheikh has taken a special interest in the boy, and hopes the tour that he is sponsoring for Adeeb
will give the young inventor more self-confidence and inspire other young Emirati inventors.

Adeeb got the idea for a special kind of prosthetic leg while he was at the beach with his family. His
father, who wears an artificial leg, could not swim in the sea as he could not risk getting his leg wet.
This inspired Adeeb to invent a waterproof prosthetic leg. Adeeb is going to visit the USA, France,
the UK, Ireland, Belgium, Italy and Germany, where he will

be staying with relatives. However, while he is in Germany, Adeeb will not be spending all his time
sightseeing. He will be working with a specialist doctor to build the appendage. He will also be
attending a course on prosthetics and learning about different kinds of medical apparatus.

Adeeb has invented several other devices, including a tiny cleaning robot and a heart monitor,
which is attached to a car seat belt. In the case of an emergency, rescue services and the driver’s

family will be automatically connected with the driver through this special checking device.

He has also invented a fireproof helmet. This special equipment, which has a built-in camera
system, will help rescue workers in emergencies. It is for these reasons that Adeeb rightly deserves
his reputation as one of the youngest inventors in the world.

Read the text carefully, and then in your ANSWER BOOKLET answer all the
questions that follow. Your answers should be based on the text.

1) Quote the sentence which indicates the sponsor of the tour.
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4) In the case of an emergency, the heart monitor will automatically connect the driver with
two groups of people. Mention the two of them.

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

3) What does the underined Word "D TRICE BT . ..ovis i simnswwns s iasivedanssisi sass siine s sinioes

6) Find a word in the text which means Hmb. . ........ooooiiiiiiii i aas
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Question Number Two

1) “Ten-year-old Adeeb al-Balooshi, from Dubai, is going to travel to seven

countries on

a tour which has been organised and funded by Sheikh Hamdan bin Mohammad,

Crown Prince of Dubai.”

2) 1- sightseeing. 2- Working with a specialist doctor to build the appendage.
3- Attending a course on prosthetics and learning about different kinds of

medical apparatus.

3) In the case of an emergency, rescue services and the driver’s family will be

automatically connected with the driver through this special checking device.

4) rescue services and the driver’s family

5) *To provide protection against’.

6) The Sheikh.

7) appendage.






